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Q.No: 1 In which of the following countries has the Grameen bank become a success story reaching to more
2419357 than 9 million people?

frofafed & @ fow 2 & grfior §% 90 ara & 31l AT 9% UgaA B THAdT B BT a9 T 82

Pakistan
A

uifear

Sri Lanka
B

fieiet

Bangladesh
C

CLNICR

Maldives
D

LIGEC]

Correct Ans : C

Subject : General Knowledge

Q.No: 2 Which sector has emerged as the largest producing sector with regard to the gross value addition in
2419362 [ngia?

HRA § Ihd Jgadd & Hay § B 91 &7 Jod 99 SUEH &7 P FU H I 572

Primary

IRt ca

B Secondary
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fedtae
Industrial
C
e
Tertiary
D
GRIRED

Correct Ans : D

Subject : General Knowledge

Q.No: 3 Who is the winner of International T20 world cup 2022?

2591537
SRIPT 20 fay FU 2022 &1 fFoiar dH g2
England
A
e
Pakistan
B
ifear
Australia
C
s feran
India
D
HRd

Correct Ans : A

Subject : General Knowledge

Q.No: 4 Where is the Nanda Devi Peak located in India?

2591763
YR ¥ a1 3t fRrer &ef fRud 82
Uttarakhand

A
IRIES

B Sikkim
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fafewa
Assam
c
S H
Rajasthan
D
XTSI

Correct Ans : A

Subject : General Knowledge

Q.No: 5 Select the most appropriate word to fill in the blank.

2588731
A part of the money has been on signs asking people not to feed the birds.
A spend
B spends
C spent
D spending

Correct Ans : C

Subject : General English

Q.No: 6 In the following question, a sentence has been given in Direct/Indirect speech. Out of the four
2588824 4jternatives suggested, select the one which best expresses the same sentence in Indirect/Direct
speech.

The little dwarf wondered where the fierce dragon had gone.
A The little dwarf said, “"Oh! Where the fierce dragon has gone?”
B The little dwarf said, “"Oh! Where is the fierce dragon?”
C The little dwarf said, “"Oh! Where had been the fierce dragon going?”
D The little dwarf said, “"Oh! Where has the fierce dragon gone?”

Correct Ans : D

Subject : General English

Q.No: 7 In the question below, a sentence has been given in Direct/Indirect speech. Out of the four
2588825 4jternatives suggested, select the one which best expresses the same sentence in Indirect/Direct
speech.

Andy cheerfully told Mark to be quiet, and that they had never left anyone yet.
A "Be quiet, Mark," said Andy cheerfully; "we never left any one yet."

B "Be quiet, Mark," said Andy cheerfully; "we will never leave any one."


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Adda247

C "Be quiet, Mark," said Andy cheerfully; "we have never left any one yet."
D "Be quiet, Mark," Andy had said cheerfully; "we have never left any one yet."

Correct Ans : C

Subject : General English

Q.No: 8  The question below consists of a set of labelled sentences. These sentences, when properly
2588885 sequenced form a coherent paragraph. Select the most logical order of the sentences from the given
options.

A. Robert went to Manchester Grammar School and received a degree in physics from Oxford in
1922.

B. He worked in the Clarendon Laboratory and then went to Goéttingen, where he received a Ph.D.
in physics in 1928.

C. Robert d'Escourt Atkinson was born in Wales on April 11, 1898.

D. After teaching physics at the Berlin Technische Hochscule for a year, Atkinson was appointed
Assistant Professor of Physics at Rutgers University.

A ADCB
B CABD
C BADC
D CDBA

Correct Ans : B

Subject : General English

Q.No: 9 Current driven in a n-type semiconductor is majorly by:
2420326

TA-T1eY YHfidsder § e TAd: drerd gidl 6

Molecules
A

S

Holes
B

B

Electrons
C

et

Protons
D

Hle

Correct Ans : C


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Adda

24

Subject : General Science

Q.No: 10 rhemical formulae of Ethane is
2420757

i @ TEEEE 2l

C:Hs

C:He

CzHs

CzHs

CsHs

CsHs

C:Ha

CzHa

Correct Ans : A

Subject : General Science

Q.No: 11 Which among the following indicates Vitamin B12?

2590913

fafafad & ¥ SH-a1 faer™q B12 &1 3fig & g2

Cobalamine

HIETATATS A

Niacin

[REIE]

Pyridoxine

ursReifea

Niacin & Pyridoxine
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Correct Ans : A

Subject : General Science

Q.No: 12
2590998

Which measure of memory is the largest ?

Hfd(memory) &1 HH-T1 AT T §3T 82

Kilobyte

feeage

Terabyte

RaE

Gigabyte

rTrETse

Megabyte

ATETSe

Correct Ans : B

Subject : General Science

Q.No: 13
2421141

In the following question, two statements are followed by two conclusions labeled as I and II.
Assume everything in the statements to be true even if they seem, to be at variance from the
commonly known facts, and then decide which of the conclusions logically follow(s) the statements
disregarding the commonly known facts.

Statements:

Some parrots are plants.

All balls are plants.
Conclusions:

At Least some parrots are balls.

Some parrots are not balls.

= U= & €1 Y 3R ITF A9 <) e 1 3R 11 fou U €1 fou e Y I 9 WAt € 3 Idwna 9 § i
T g f 3R R Fzag &% i eH-u1 e 3T 70 ST &1 SrERUr B 71
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HY:
Fo dld O B
Wit g o 7

s

&1 Q A $S dId e B
EEIGRICE A

Only Conclusion I follows

A Faa freed 1 SrgERur Bar @

Only Conclusion II follows

Fad frerd 11 IFERor HRar 8

Either Conclusion I or II follows

a1 &t frsed 1 a7 11 SERYT HRar 8

Neither Conclusion I or II follows

D Tt frspd 1 7 11 SR FRan @

Correct Ans : C

Subject : General Aptitude

Q.No: 14 In the question below are given two statements followed by three conclusions I, II and III. You have

2421156 g take the given statements to be true even if they seem to be at variance from commonly known
facts. Read all the conclusions and then decide which of the given conclusions logically follows from
the given statements disregarding commonly known facts.

Statements:

All pens are red.

All red are pencils.
Conclusions:

I. All pens are pencils.
I1. All pencils are pens.

ITI. At least some pencils are red.

I foT T AT Uy B $© HUF R IUF 91¢ $© Y 3T T §1 e 3T T HU Y I AT §, U &
3 I & ¥ ST Uhd g 81, Wit fee! 31 ufeu ofk fR fvfa iR i fiw M el & @ oH-9/aH-9
frpy a0 Tt Bl TORSIG B W HYA BT dAllchd =T F SFIRUN BTl 6/Hd g |

FY:
it 07 A1 B
Tt ara o &
e

1. wft O U B
11, Tft 9y o &
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111. 5 URa ara §1
Only I follow
A
Fad I 3OV Hal &
Only II follow
B
FId 11 IRV HaT &
Only III follow
C
HId 111 IRV HaT @
Both I and III follow
D

I 3 II ST ARl o &

Correct Ans : D

Subject : General Aptitude

Q.No: 15 Select the related word from the given alternatives.
2421365 Television - Telecast - Radio : 7

fgw a7 fasey & Gafad osq I+
Eolfaater | eReeiad-aERoTr @ ST ¢ ?

Broadcast
A

IR

Friendship
B

e

Compose
C

feram

Talking
D

ard

Correct Ans : A

Subject : General Aptitude

34'101141065 Select the related number from the given alternatives.
356 :45 21527
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6T 710 fashedl # & Halad T&AT & 93 H|
356 :45 1527

10
A

10

11
B

11

12
C

12

15
D

15

Correct Ans : D

Subject : General Aptitude

Q.No: 17 A number is multiplied by (3/8) instead of (8/3), then find the percentage change in that number.
2592443 (up to two decimal places)

%ﬂwﬁ (8/3) & WF W (3/8) I TuN far e B, Ot 39 e H ufa=rd uRad I1d I (S=med & af
o )
81.26%
81.26%

92.35%
92.35

85.94%

c 85.94%

78.26%

D 78.26%

Correct Ans : C

Subject : General Maths

Q.No: 18 The ratio of two liquids in a mixture is 3 : 5 and that in another mixture is 6 : 1. In what ratio these
2592492 o mixtures must be mixed so as to make the ratio of the two liquids 7 : 3?

TS 901 B S gl BT U 3 : 58 IR g B H 6 : 1 1 37 < frerol ) by ergord & e =nfew i &
%dl &7 3Ud 7 : 3 8 We?

44 : 61
A

44 : 61
B 44 : 71

44 : 71
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D

44
44

44 .
44 .

Correct Ans : D

Subject : General Maths

Q.No: 19

2592515 many days can the work be done by 5 men and 4 women working together?

D

Subject : General Maths

1 81

81

91
91

If 2 men and 3 women can do a piece of work in 8 days and 3 men and 2 women in 7 days. In how

gfe 2 smeHt 3R 3 3R e <t & &1 8 fa7 H Fa & 9yt 3 sieH 3R 2 3Rd fddr I8 &H &l 7

T & o B, @ 5 et 3R 4 3IRd a3 &1 & fFan G & g s

4 days

4 e

5 days

5 fa=1

10 days

10 fa

15 days

15 f&q

Correct Ans : A

Q.No: 20 Sachin goes to stadium at a speed of 10 km/h and returns to home at a speed of 8 km/hr If he

2592527 takes 9 hour to complete. What is the distance between his house and stadium.

D

Subject : General Maths

QNo: 21 frfeifee # @ -4 Wrow e 1 AT R AT ST T 27

2590520
A
B
C
D

|fe 10 fpt / der 1 Tfd ¥ WLfsam Sl & ofR 8 et / et &t 7 § o died ¢1 e 98 $9H $a 9 °e BT

JHI AT B ISP R R Rfsga s Sa g g 2

80 km
8o fe#

40 km
40 fe

60 km
60 faH

50 km
50 &t

Correct Ans : B

Hordl
@erar

gfgRI
Sif¥rerraT

Correct Ans : D
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Subject : General Hindi

Q-NO: 22 ' ypeufRd % § $H-91 Vst dhgd Xsg $T IR0 Tl 22

2590528
A ™
B e
C firerg
D e

Correct Ans : A

Subject : General Hindi

Q.No: 23 fqu U I/ & fow fA9 # ¥ U s &1 997 HIfoTe-

2590567
“forges! HdT 9 81 9 ”
A g
B IR
C AFHD
S

Correct Ans : A

Subject : General Hindi

Q.No: 24 I3 fau v yz & e “31aR” & 3 fapeti A fou 7T ¥ 1390 ¥ IS T ey Tad Bl
2590592  3ue! TTeid fdbey Ul off Jeifiid wrea o1 Ut 3 el §, 1 T BT g

A I
B qut
C R

e

Correct Ans : A

Subject : General Hindi

Qo 25 P 3 & Gerae-agae & 9e Y- 1 7 PG

2590613
A SHHATYDH- AATIDT
B fafy-fafar

C 31g- Sy

D ST~ erept

Correct Ans : B

Subject : General Hindi

Q.No: 26 Which factor would increase tissue processing time for a histology specimen?
2591586
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fRIcol TR & foTY B U1 PR& FHad UGBV JHY FIT ?

gentle heat

A
I A
dense tissue
B
AT SHdd
gentle agitation
C
< g
vacuum inltratioin
D

JogH gerfedg
Correct Ans : B

Subject : Lab Technician

Q.No: 27 Which test result would increase in a urine specimen sitting at room temperature for 3 hours ?
2591588

34U % U R &AM R W T & T T DIF-91 G0 IR0 §¢ SIe?

billirubin
A

IECIEIEE]

nitrite
B

AggTe

leukocyte
C

GPHITEE

urobilinogen
D

QRIqrafeEoT

Correct Ans : B

Subject : Lab Technician

Q.No: 28 The most commonly used microscope in the clinical laboratory is the
2591589
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e yaRTRTar ¥ e 3ifies vanT fohar S are geesif g

electron

AR

dark-led

3T WS

phase contrast

B HERE
light

USRI

Correct Ans : D

Subject : Lab Technician

Q.No: 29 A refractometer is used to test

2591590

TH WhdeIHIex &7 I HT UYerur B & fore far S g1

hemoglobin in urine
A

ek LI e

urine osmolality
B

A TR

urine specic gravity
C

7 faftre o

urobilinogen in urine
D

T3 ¥ QRifafesiee
Correct Ans : C

Subject : Lab Technician

Q.No: 30 Which metal is used to make a screwdriver?
2591591

Ugg §H & T 59 urg &1 IuahT far Siran g 2

A Potassium
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Sodium

ifsan

Nickel

e
Gold

QAT

Correct Ans : C

Subject : Lab Technician

Q.No: 31 A microbiology transport medium will contain activated charcoal

2591592
T Y& Sia fage uRae Areod # Il aRSIa BT
to prevent bacteria death
A
SHaruef @t g F e F fr
to help staining process
B
ua ufshar # Hgg oA & fog
to absorb toxic substances
C
foruTe verdf Y sraRifta a1 & fag
to keep a neutral ph
D

TP de ph @1 & forg
Correct Ans : C

Subject : Lab Technician

Q.No: 32 The “universal solvent” is
2591593

e s 2

A 0.85% sodium chloride

GET IT ON
Google Play
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0.85% WHIf$TH FARTES
8.5% NaCl
B
8.5% NaCl
water
C
Tt
10% ethanol
D

10% SAATd
Correct Ans : C

Subject : Lab Technician

Q.No: 33 Convert 41 degrees C to Fahrenheit

2591594

41 f&ht ATy & wRATEE # uRkafia a:

100.0 F
A

100.0 F

74.6 F
B

74.6 F

110.0 F
c

110.0 F

105.8 F
D

105.8 F

Correct Ans : D

Subject : Lab Technician

Q.No: 34  Which unit is the smallest?
2591629

B @ 3HTE TaY BI 72

A nanometer


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Addal2417

AnfteR
meter
B
Hex
millimeter
C
frefiiier
micrometer
D

HTgHIHieR

Correct Ans : A

Subject : Lab Technician

Q.No: 35 Blood passing through the left atrium would next enter the:

2591630
T SR Y ORI TG W HaA B
aorta
A
HRTUTH
right atrium
B
i anfeie
left ventricle
C
@ & ar A
left lung
D
I FES

Correct Ans : C

Subject : Lab Technician

Q.No: 36 Which type of water is most chemically pure?
2591631

5T UHR &1 oId IMAAS T4 ¥ e s Yg 8T g2

tap water

el BT o

B spring water

GET IT ON
Google Play
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TR BT 9

distilled water
C

SYd Sl

None of the given options
D

fau T fawent A @+ TS
Correct Ans : C

Subject : Lab Technician

Q.No: 37 How much 5% HCL is required to make 500 ml of 2% solution?
2591632

500 frefiefier 2% O s & oW a1 5% HCL 3Maws 2:

150 ml
A

150 et

200 ml
B

200 fireft

350 ml
C

350 fireft

400 ml
D

400 et

Correct Ans : B

Subject : Lab Technician

Q.No: 38 Identify the false statement regarding 24-hour urine collection:
2591635

24 °¢ & OF YUg & Ty T TTed HUF B Ugd:

testing is done in chemistry

T R & udheror fpan wrar @

B a preservative may be used for some tests
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$o T F Y ue uRRe® o1 IuE fFar o wear @

collections during the night are discarded

A P IR T WIS HR a1 orar &

the first timed specimen is discarded

Ugel IR BT TAT WIS B faar T @

Correct Ans : C

Subject : Lab Technician

Q.No: 39 A creatinine clearance test is done

2591637
% fopufef Ferdt udtermn fovar S §:
on 24-hour urine only
A
PAA24 R F TR
on serum only
B
Faa IRA W
on serum drawn three days before collecting a 24-hour urine
C
24 92 $1 gF UHT H1 A oA fT tgd I w
to determine kidney function
D

T8 & w1 &1 Fufvor w33 & forg

Correct Ans : D

Subject : Lab Technician

Q.No: 40 Which is not part of the large intestine?

2591640
DI-T1 TSI 3T DT HFT T8I § ?
rectum

A
Yaeq

B duodenum
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goflsTH
cecum
c
aJuq
sigmoid colon
D

Rratgs siaq
Correct Ans : B

Subject : Lab Technician

Q.No: 41 The chemical name of bleaching powder is?

2591666
AT USSR HT MRS AT 52
HCIO
A
HCIO
Cl104
B
Cl04
CaOCL
c
CaOCl
CCly
D
CCls

Correct Ans : C

Subject : Lab Technician

Q.No: 42 Which is used to preserve 24-hour urine for endocrine testing:
2591667

Sfc-ard T F T 24 6 & G B WA B F o et Iwa fovan Siar g2

sodium bicarbonate

Tqfsan sgFEAe

B oxalic acid
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siqarfere Tirs
hypochlorite acid
C
QERILSINECAYEE
sodium hypochlorite
D

if$a guITIRIge

Correct Ans : C

Subject : Lab Technician

Q.No: 43 Where should Sterilometer strips be positioned?

2591668

wReHeR R o Hgi W@ S aAfee?

on the bottom shelf of the autoclave
A

IeIRIT F frad A W®

in close proximity to the air exhaust valve
B

g T a1eg & F9 Fwear o

in the center of each article
C

TP IMfiéPpa & Fg |

on the outside of each pack
D

T 06 & TR ®

Correct Ans : C

Subject : Lab Technician

Q.No: 44  Which of the following is the best means of determining the effectiveness of the sterilization
2591669 process?

THsc Ufehar &1 yHTaRliedr &) Fuiid e &1 gad srs1 iy Fafied § 3 o g2

steam clock indicators

YTy g} HPas

B culture test
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PHod? TNEr

sterilometers-thermolabile strips

RReifter-usfenfirer v

sealed glass tubes containing a wax pellet

g @ ogd Rred |9 $1 eh B @
Correct Ans : B

Subject : Lab Technician

Q.No: 45 Which statement best describes what privacy legislation deals with

2591670
D T HYUF T 33T ol Il § fas Moo s 3 Tefid B
a private lab nhumber
A
TS el A9 dR
the collection, use, and disclosure of personal information
B
HRITT TPRI $T HUG, STINT 3R THEIHR0
the privacy of the health care worker
c
WY GEHT SISl I Mu-rgar
the privatization of provincial health care
D

Ui WY 3@ &7 fAeftewor

Correct Ans : B

Subject : Lab Technician

Q.No: 46 Which of the following must be rewrapped and desterilized ?
2591671

frofafed & & frae gafuro sk gaeufo fasan s anfge?

a torn pack

% el gom 0w

B an open pack
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TS gl Is

a wet pack
Cc

TS e U

all of the given options
D

feu e 9ot fawea

Correct Ans : D

Subject : Lab Technician

Q.No: 47 What is the name given to a substance that kills disease-producing microorganisms/not spores and
2591677 g generally applied to inanimate objects ?

39 v &l @ A1 fa @ o T Uar R ar geAsial B HRd 8/
Soogat Bt T SR 3 IR W fAoffa a¥gaif iR ang 8T 82

a disinfectant

A
TP DICTIMRIS
an antiseptic
B
@ @Rifte
an antibiotic
c
@ @emifes
a fungicide
D

TH HAB-IRN
Correct Ans : A

Subject : Lab Technician

Q.No: 48 Acids are stored

2593051
R Tufed g g
With bases

A
3MYR & 1Y

B In plastic air-tight bottles
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wfe® BT a1 A Wl diae &

In metal safety cans
C

U1y & JRiEa =t d

In glass stoppered bottles in a drip tray
D

% 30 ¢ ¥ e s1e & diaat d
Correct Ans : D

Subject : Lab Technician

Q.No: 49 T cells are

2593052
& PR gl
Monocytes

A
AHrTSCH
Neutrophils

B
Lymphocytes

C

Eosinophils

ERICTIEa]

Correct Ans : C

Subject : Lab Technician

Q.No: 50 Solid crystals of potassium oxalate are added to distilled water in a container. What term best
2593053 (escribes the potassium oxalate?

URRW Sfiqde & 31 fred &I U ek § 3d oia § fiyaman o g
TR SfiaTde fHy s BT TaY ST U BT 82

Solution

CIC]

B Solvent
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faemae®
Solute
C
faera
Reagent
D
firsdes

Correct Ans : C

Subject : Lab Technician

Q.No: 51 Which chemicals are most highly malleable?

2593054
DH Y I T P SaTdad=ia g1 & ?
Strong oxidizers
A
Aoqd HRITPRD
Strong reducers
B
LEECES G
Organic solvents
C
N Aicde
Acids
D
S

Correct Ans : C

Subject : Lab Technician

Q.No: 52 Which safety equipment is not needed when measuring out a volume of strong base?
2593055

HIgd YR & I I AT T 59 YR SUSV ST SMa=abdl Tal ghell 82

Safety googles

GR&T T

B Laminar flow hood
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AR vl g
Propipette
c
wiftde
Rubber bottle carrier
D

IR P didd I8P

Correct Ans : B

Subject : Lab Technician

Q.No: 53 Which reagent is used to embed tissue after processing?

2593056
TR & TG AP Bl TS B & (ol f59 sifiieptios &1 IwaiT faar S g2
Permount
A
TRHISUC
Paraffin
B
Wi
Xylene
Cc
srsfer
Formic acid
D

BifH® T

Correct Ans : B

Subject : Lab Technician

Q.No: 54 What reagent is mutagenic/clastogenic?

2593061
ARG/ TR B AT SHfwHEG 372
Crystal violet
A
fopea St
Picric acid
B
iR erat

C Zenker’'s uid
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TP BT g et

Brazil xative

i wifed

Correct Ans : A

Subject : Lab Technician

Q.No: 55 Which is the following hormone directly Regulate Blood Glucose Level?

2593091

g ° @ P9-31 gEH WY IR W I9d TH TR &) FEEd Har 22
TSH

TSH

FSH

FSH

Progesterone

LIS

Insulin

sgfer

Correct Ans : D

Subject : Lab Technician

Q.No: 56 Gram Staining was introduce by which scientist?
2593092

I R 31 B e a9e 3 3t R

Alfred Gram

3PS I

Christian Gram

ot o

Robert Cook

GET IT ON
Google Play
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A TP

Leuis Pasteur

ERIET

Correct Ans : B

Subject : Lab Technician

Q.No: 57 Which is the following Parasite Doesn’t develop Systic stage ?

2593093
Profifad # 3 BF-a1 welld fifes =01 el 7 F=ar &2
Giardia Lambia
A
TRSNAT AraT
Antamoaba Histolytica
B
Tesrtar feweifafest
Enterobius Vermicularis
Cc
weifeaw aHfegaia
Trichomonas Vaginalis
D

TRHEAN afomfer
Correct Ans : D

Subject : Lab Technician

Q.No: 58 Which one of the following Immunoglobulin appeared as Pantamer ?

2593095
fofafd sgAragfer # @ &9 I Yk & ¥U ¥ yace gal?
IgA
A
IgA
IgE
B
IgE

C IgG

GET IT ON
Google Play
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IgG
IgM

IgM
Correct Ans : D

Subject : Lab Technician

Q.No: 59 A ‘rice water stool’ is characteristics of patient infected with

2593096
MY & UM BT T ¥ Tt Al 7 weor B
Clostridium botulinum
A
FIfSaw dighrw
Salmonella Typhi
B
GICIECIRG RS
Shigella dysenteriae
c
Rrter aferr
Vibrio Cholera
D

fafsrat et

Correct Ans : D

Subject : Lab Technician

Q.No: 60 Which one of the following result is typical of compylobacter jejuni?
2593097

frafafad § @ H19-91 uikom HfReedeR ST o1 e 82

Catalase Negative

A

Fered Afea

Non Motile
B

Al Hega

Optimal Growth at 42°C
C

42 &It IR R syaw e
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Oxidase Negative

JTRftew AAfea

Correct Ans : C

Subject : Lab Technician

Q.No: 61 Which is the following test is used to detect/determine Syphilis?
2593098

Rywfera &1 uar o / el s & e Fafafead wemr o1 Iua fear smar 82
ASOT

ASOT

Ra factor

Ra ®R®
CRP

CRP
VDRL

VDRL

Correct Ans : D

Subject : Lab Technician

Q.No: 62 The protein fraction that migrates most rapidly toward anode is :-
2593101

T 3 Sl TS T 3R I 3ifiiep dolt J U Rl §: -

Albumin

e

Beta

Gamma

Alpha 1

GET IT ON
Google Play
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3T 1
Correct Ans : A

Subject : Lab Technician

Q.No: 63 The majority of our body's weight is composed of?

2594895

TR TRR 1 SHABT= YR e 11 Shr 82

From bones
A

siear @

Parts of body
B

IR F W |

Parts of skin
c

@ & fewdl @

From water
D

i |

Correct Ans : D

Subject : Lab Technician

Q.No: 64 What is the number of nerve pairs that emerge from the spinal cord?
2594896

Ty ¥ e arel dieT gl &1 e fba 82

13
A

13

31
B

31

33
C

33
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22

Correct Ans : B

Subject : Lab Technician

Q.No: 65 How many bones are there in an adult human body?

2594897

TH 9O H1d XK A faat gfgar gt 82
210

210

206

206

120

120
306

306

Correct Ans : B

Subject : Lab Technician

Q.No: 66 Which among the following bones in the human body is the smallest?

2594898

AHa IRR ¥ Fafafed § 9§ oF @ 53t 9ed B3I 82

Vomer

R

Stapes

wdte

Malleus

Aeitarg

Incus

|

Correct Ans : B

GET IT ON
Google Play
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Subject : Lab Technician

GET IT ON
Google Play

Q.No: 67 Which of the following integumentary system structures is classified as an epidermal appendage?
2594899

frofafad o & o1 @ goigar yoret Tam1 & vfieda Ui & wu § Fifed faar mn g2

Blood vessel

ATt

Nerve

Hair

CIN)

Stratum basale

e 3d

Correct Ans : C

Subject : Lab Technician

Q.No: 68 What is the term for the presence of an extra chromosome?

2594900

T 3ffaifed U @1 IUTRIRY & T Tea w1 22

Mosaicism

AT Rred

Trisomy

[ENUGER]

No disjunction

BI% fadg e

Monotony

DT

Correct Ans : B

Subject : Lab Technician
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Q.No: 69 What is the smallest unit of life that scientists agree is alive?
2594901

Siia BT Y BICT P1S PH A 8 o a9 Sifad 7 82

Atom

UHTY]

Molecule

bt
Cell

Tissue

Gdd

Correct Ans : C

Subject : Lab Technician

Q.No: 70 Which brain lobe, if injured, causes memory loss and hearing loss?
2594902

DIF-91 ARKTSS e, I9d 8 W W 8T 3R 4901 g1 BT HRUT =T 82

Frontal lobe

qdIe | g

Occipital lobe

UYPUT AT

Temporal lobe

AR A

Parietal lobe

RLECaRSIC]

Correct Ans : C

Subject : Lab Technician

GET IT ON
Google Play
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Q.No: 71 What is the name of the field that studies how the body's surface features and internal structure
2594904 (¢|ate to one another?

I & BT 19 FT ¢ O TR Rl ¢ & IR B Tdg &1 fAAvang ¢k 3iaies WRaT T gak d H et g2

Histology
A
SHas fag
Embryology
B
yorfagT
Cytology
c
PIfRreT fag=
Surface anatomy
D

Tdg WK =41 fag=

Correct Ans : D

Subject : Lab Technician

Q.No: 72 Which of the following molecules helps proteins fold by acting as a molecular chaperone?
2594925

faffd & § B9 91 3] 3y JuR P U | B B Ui B e § Hag Bl 82

Vitamins
A
faetfim
Carbohydrates
B
PraleTsse
Amides
c
RUIEEL]
Lipids
D
fafrs

Correct Ans : D

Subject : Lab Technician
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Q.No: 73 Which of the following enzymes is widely distributed in adipocytes and germinating seeds?
2594926

fofafed & @ 319 w1 torey TEugey iR SigRd diel # aues EU ¥ U S 82

Lipase
A

Proteases
B

Cellulase
C

Nuclease
D

gadrer

Correct Ans : A

Subject : Lab Technician

Q.No: 74 Where does our beta-oxidation of fatty acids take place in our body?
2594927

AR IRR & g 3l b1 dier-3iaiipur el gidl 872

Peroxisome

A
RIRfEH
Peroxisome and Mitochondria
B
WRifRrE 3R ATgIPitgar
Mitochondria
C
ArgStifar
Peroxisome, Mitochondria, and ER
D

WifRTE, wgeIPisar 3R ER

Correct Ans : C

Subject : Lab Technician

Q.No: 75 Which of the following is used to express the number of OH groups in fats?
2594928
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fofafad # ¥ fue i oo & OH THE! @ T1 &) oad R & forg fasar oirar 82

Reichert-Meissil value

Hud-Hifa v

Polenske value

G A

Iodine value

e a1

Acetyl value

TRersd A

Correct Ans : D

Subject : Lab Technician

Q.No: 76 Which of the following causes rancidity of lipids in lipid-rich foods?
2594929

frofafea & @ feue sru fafte goa @ el § fafte @t s gt 82

Fatty acid reduction

Bt TR # ot

Unsaturated fatty acid hydrogenation

SR T 3T FIFGISTIHROT

Saturated fatty acid dehydrogenation

g Bt virs fegggioriero

Fatty acid oxidation

P TRrs sifRfieur

Correct Ans : D

Subject : Lab Technician

Q.No: 77 The degree of lipid unsaturation can be expressed as which among the following?
2594930
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fofire srigita @t fht ) Fafafad & @ fud v o saq fasar o g g2

Iodine number

A
TS FaR
Saponification number
B
GICEICUECH
Reichert Meissel number
c
$d de JR
Polenske number
D

A e
Correct Ans : A

Subject : Lab Technician

Q.No: 78 What is the term for the disruption or interference of typical physiological and developmental
2594931 processes or structures?

fafkry TR SR fAerarere ufparsit a1 Iemsil & gy a1 gAY & o o Wea 872

Functional Limitation

A
P A
Pathophysiology
B
Yifsforaarsht
Societal imitation
c
TS TS
Modality-Specific
D

R-adid fafky
Correct Ans : B

Subject : Lab Technician

Q.No: 79 What is the name of a task that is specific to a single sense or movement pattern in the context of
2594932 gpapilitation engineering?
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I P BT A &1 § O GAaN Soi=aiT & ded # uoha o a1 1 Ue & forg fafks &2

Functional Limitation

A
FratE®
Societal Limitation
B
rfore dter
Modality-Specific
C
aR-TF fIfRkE
Pathophysiology
D

Tyifromarst
Correct Ans : C

Subject : Lab Technician

Q.No: 80 Bone marrow test was invented in which among the following years?
2594955

fFofafea & 3 fog af & Ry o= e &1 anfaseR fovar mar ar?

1953
A

1953

1986
B

1986

1960
C

1960

1874
D

1874

Correct Ans : C

Subject : Lab Technician

Q.No: 81 Platelets have an average lifespan of how many days?
2594956

Weded Bl 3Gd Sa-eIa b 1 &1 gl 82
A 10 days
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10 feq

100 days

100 f&
50 days

50 &

1 days

1 e

Correct Ans : A

Subject : Lab Technician

Q.No: 82 What is the name of a semi-solid tissue that may be found within the spongy or cancellous regions
2594957

of bones?

TP -3 e &I 1 919 § S giFal & Well a1 iR &=t & Wik urr S 9 g2

Bone marrow

I AT

Blood

Plasma

GITSHT

Platelets

Weded

Correct Ans : A

Subject : Lab Technician

Q.No: 83 Which of the following should a sickle cell anaemia patient avoid?
2594958

yra Ja wHiftrn & Wl & Fofafea & 3 fred gemm @nlke?

Swimming



https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Adda247

R

Dehydration
B

EEGIEZL

Pneumococcal immunisation
c

AP EPTH

Early antibiotics for respiratory infection
D

YT AP AYT & T geardt tdamifea
Correct Ans : B

Subject : Lab Technician

Q.No: 84 Which reagents can be used as diluents during a WBC count?
2594959

WBC TUFT & GRM o SifiimHad! $I aIdR® & U § ST fHa1 S abdl 82

Acetic acid or sulfuric acid

A
tfifes ohrs a1 aewrgfe ofrs
Acetic acid or citric acid
B
tRifew qirs a1 wsfew Thrs
Acetic acid or hydrochloric acid
C
s ufirs a1 grEeiai® Ufirs
Acetic acid or triphosphoric acid
D

Rifew TS a1 TR wIIRG Thrs
Correct Ans : C

Subject : Lab Technician

Q.No: 85 White blood cells, or WBCs, should make up what percentage of an adult's blood?
2594960

Ad Y9 BB, T ST, (WBC) Th a8%b & Iad BT a1 Ufa=rd g1 anfeu?

A 1000— 2500
ul
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Lp00—2500

o

Z500—3000

i

Z500—3000

ul

F000—3500

u

F000—3500

ul

A4000- L1000
u

A4000- L1000
u

Correct Ans : D

Subject : Lab Technician

Q.No: 86 Which of the following accurately describes a lymphocyte subtype?

2594961

9 7  H9-91 forpIaEe IUUSR BT Jélh JuiH BT 872

G cells

G PIRPHIY

P cells

P SIf®BTY

T cells

T HIReE

U cells

U SIfRreTe

Correct Ans : C

Subject : Lab Technician

Q.No: 87 Which of the following may result in oliguria from renal causes?

2594985

GET IT ON
Google Play
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frufafad § 3 fud aRumResy gaaia HROT I shfergfar gt T 82

Diabetes mellitus

A

TYHT Aded

Diabetes Insipidus
B

AyAE diew

Acute Tubular necrosis
C

e cgEer APk

Prostate hypertrophy
D

WReT gISURCIB!
Correct Ans : C

Subject : Lab Technician

Q.No: 88 What is the colour of urine in Jaundice?

2594986
diferan & UG BT 1 BT FI 22
Dark yellow
A
g g
Tea- like
B
I P AT
Colourless
C
CE
Light yellow
D
Tt

Correct Ans : A

Subject : Lab Technician

Q.No: 89 Which of the following conditions results in the presence of urine that smells like acetone?
2594987

fofafea & @ fry fRufa & oRomrasy wifidq Seit iy ard g @t Iufufa gt g2


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Adda247

Nephritis
A
Apfew
Old standing samples
B
R R T
Diabetes mellitus
c
TYHT Aded
Uncontrolled diabetes mellitus
D

sifrafia aywg Afdew
Correct Ans : D

Subject : Lab Technician

Q.No: 90 What is the normal RBC range in urine?

2594988
T H SRE B wm e g2
Up to 4/HPF

A
4/HPF T&%

Up to 40/HPF

B
40/HPF d%
Up to 14/HPF
C
14/HPF I
Up to 16/HPF
D

16 /HPF d&%
Correct Ans : A

Subject : Lab Technician

Q.No: 91 What is the minimum amount of stool required for the test?
2594989

X ¥ U 39 A $4 [ 7 B SIS gl 87
A 2-5gm
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2-5 ™

6-8 gm

6-8 UH

8-10gm

8-10 UTH

7-9 gm

7-9 UH
Correct Ans : A

Subject : Lab Technician

Q.No: 92 How soon after a stool sample is collected should it be examined?
2594990

TS BT AT o & b T 971G ID! S DI ST AMMeu?

20 min
A

20 fiFe

30 min
B

30 fiFe

15 min
c

15 fiFe

50 min
D

50 fie

Correct Ans : B

Subject : Lab Technician

Q.No: 93 What do we mean by Semen Analysis?
2594991

9 fawaiwor § gART T Sty g2

A A rarely used infertility test
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e € FWY suTa fhar S aren Sigra gdier
A routined fertility test

B

o frafia yorea afiam

A routined infertility test
C

o frafia sigra afam

A thorough examination of sperm
D

XEPTY] P T8 Wi
Correct Ans : C

Subject : Lab Technician

Q.No: 94 Which of the following is the basis for the presumptive test of the WIDAL Test?
2595015

fafafad § @ S T WIDAL T & STHIHT TRIE0T BT SMUR 82

Semi quantitative method

A
I aETES fafy
Direct agglutination method
B
e wg- faftr
O and H antigens
C
0 3R H TieH
PCR
D
PCR

Correct Ans : B

Subject : Lab Technician

Q.No: 95 Why are positive and negative controls required during ELISA setup?
2595016

TR V23U b SR FHRIAD 3R THRIAD TN b1 Mahdl Hf g2

Positive and negative controls are equivalent

YPRTHAP 3R TPRIAP =01 I &

B ELISA can make mistakes; if the controls are ineffective, the results are unreliable
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wfera Tafadi X wedl 8; afe fFra=ror st €, o uRomw sifayaia @

A well-conducted ELISA test typically does not require controls

T JHareyd e udieor # mdik W fAa=or #t smazaswar ¢t gl 8

To rule out all results, negative and positive controls are required

It TRl B R FA & R, TERTHS 3R APRIAD 0N ST TawgHdl gidl &

Correct Ans : B

Subject : Lab Technician

Q.No: 96 Which among the following causes syphilis?
2595017

9 7 o9 1 IUCY BT SR IdT 8?2

Treponema pallidum parasite

Taifam tftrew weidt

Entamoeba histolytica (a parasitic organism)

tesrdtar REIRiR®T (To weid! sfiq 2)

Plasmodium parasite

WA ST TSt

Neisseria gonorrhoeae (a type of bacteria)

FrRafvar MR (TP yeR $1 Siary @)

Correct Ans : A

Subject : Lab Technician

Q.No: 97 Which of these is not a characteristic of congenital syphilis?
2595018

T ¥ HH-T T IUSY oI =T el 872

Ghon complex

U Sieed

Interstitial keratitis
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RIS deresfew
Mulberry molars

C
eqd & WA
Notched incisors

D

PR Fab

Correct Ans : A

Subject : Lab Technician

Q.No: 98 Which of the following causes luetic glossitis, an intraoral manifestation?
2595019

fofafed & @ H1F-1 Gfed R &1 HRU ST €, SN T SersiRa sifiafad g2

Mycobacterium tuberculosis

A
Actinomycosis
B
Treponema pallidum
C
0T Aeifeam
Streptococcus
D

Rudsied

Correct Ans : C

Subject : Lab Technician

Q.No: 99 DNA is located in the nucleus of the cell. Which of the following additional cell structures typically
2595020 4|50 has DNA in it?

ST SIRBT & Hoop § Ryd g1 o1 Fafiad d & fpg sifaled SR W= § mHak R Situ +f ghar 872

Peroxisome

Wi

B Mitochondrion
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ArgSIifgar

Golgi Apparatus
C

icsicap

Smooth Endoplasmic Reticulum
D

TG TSI dergad

Correct Ans : B

Subject : Lab Technician

Q.No: 100 Which of the following structures allows for the production of steroids?

2595021
fraffed §  oF-U T ®RI9S & Idred B eigafd <t 82
Peroxisome
A
RIRfEH
Mitochondrion
B
LIECEaIT
Golgi apparatus
C
Mest e
Smooth ER (Endoplasmic Reticulum)
D

T TSIw® dergad

Correct Ans : D

Subject : Lab Technician
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